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= 4,100,000
| 532,000
= 7,430,120

AR JIBtE 8,358,000 4,347,400 4,010,600
= 3,000,000
L= 5,358,000

BRI NS AL =& 8,358,000 4,347,400 4,010,600
= 3,000,000
= 5,358,000
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& 3,000,000
& 5,358,000
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01 AtE22/Hl 145,000 145,000 0
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& 800,000
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NMAZES =AM JHzl =& 1,230,000 743,000 487,000
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201 et 30,000 30,000 0

01 AtS 22l 30,000 30,000 0
OzZ=3=H 222 HH 15,000
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3,000, 000& *33] 9,000
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= 30,000
= 300,000
| 532,000
& ,567,000
ZI30AME=EL 719,000 189,000 530,000
= 30,000
| 532,000
= 157,000
306 == 30,000 0 30,000
= 30,000
01 =93 30,000 0 30,000
O30agy dEEXN 30,000
= 30,000
307 212t01& 159,000 159,000 0
| 32,000
& 127,000
02 QIZtBAE X 60,000 60,000 0
OSHSMEA S L EHOHAEEIIKA 40,000
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O403 EE303UH 35,000
OHFIEESEH 64,000
| 32,000
& 32,000
308 MXIHMSOIA 30,000 30,000 0
01 MHXSHBAEEXZ 30,000 30,000 0
ONSIUHE AME Y &
60,000,000 *50% 30,000
403 NtXIEMSK=201™ 500,000 0 500,000
| 500,000
01 MXESMA=2E =R 500,000 0 500,000
O30 & MAEHMHE =4 500,000
J| 500,000
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